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Z: WEREH (BAL: mm)

N: 5%

OD: H4EHME (BAfL: mm) OD = (N+2) *Zmm
fin:

15240 5mm 2561k, WHELIMROD = (256+2) *0.5 = 129mm

FRE0. 4mm 25615, HEEIMEOD = (256+2) *0.4 = 103. 2mm
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205. 6 180 194 4 4.5 512

205. 6 180 194.4 4.5 512

205. 6 160 175 45 512

205. 6 140 175 4.5 512

154. 4 108 120 4.5 384

154. 4 108 124 5.5 384 o

103.2 82 92 4.5 256 BIPB=hE92, 4

103. 2 90 96 3.5 256 8 O] 64

103.2 65 80 3.5 256
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52 35 43 3.5 128 =1024

52 30 41 3.5 128

52 35 43 3.5 128

40.8 20 30 3.5 100

26.4 10 x x 64
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257 230 244 4.5 512

129 95 112 3.5 256

65 50 57 3.5 128

65 40 53 4.2 128
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SEFEE:  X1+4X2=0.5T£0.1T  X2+X3=0.5T=%0.1T
MRIZE: Xn=0.125T (n=1,2,3,4)
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